BEE = AR —VHEER (RHR556)

. 2E—V e
A HPIEELE - 728D \
sH6EE| =8 m;ggg;ﬁ(};?ﬁ HEEDOA 28300 %%%Eg%@ 7l m=
5 s o) SNE(C .
SHEZ | 2717 00 05, (qaqgﬁu) 0323008 |33 | (@568115)
R EES
IPERL | L J— NPEBY B =I5
No—fi— | LT ZEE 8 1~ 6eEE, p] BB (3090-
L= | WS 1200 304 9878-7837)
(BTER) e .
pEYE | SR |4B60(H~9R28B(D) | TRUSLT | so00m | 3mone) | HOFAB
ez | mieen %ﬂ'?é(t)~%ﬂ7¢3ﬁz9a<¢) ik (REHSO) gé%ffé(a_% %ﬁgh%?%?s
53888 18:00~20:45 st
(BER)
_ DR -HF - THD
BUE | C A8 e 100|303 000m,
PEDSG | pig (BT L oooo ) |APRIESE 10A | BF 35000, b )] pez=
STE= | 759k (0o INERDEE 15A | £ F4500M ()| bass (8090-
27— | BUPHR | 200 a0y -3815 (1) | W EEEEE 20 | BOABRS00M) 4490-0358)
77'-7/ I\ /@5@ 830'\’1 1 OO(H4@]B‘§{ . CP%EQ? 15A XE%E(;/A/HESOO
FH1DBRICmRGH ) RIee
B IR 5 10008 (288) | 78138 (1)
mE57 | g | OSCDTORR) g oo ormdesns| Fe | wliEE
E—BRE|  PFE | oo O hmaie | MERPEE SN | TE—R0— | %EFRE | (B0-
& | U500k UL REASRS |\ SRE2ESA | CAPT2RE| SETE | 4490-0358)
° pAEF 10A | RREEER. | (B,
Nzyy | BWE [48148(8)218(8)-28| 40#ELE A T
o= R |B(8)17:00~19:00 BT 4T T e (8090-
- HEE | LR (SPEERES, 10A 9118-1087)
4B ~5107 438 SBEs N
NRA Y K 121723018130 S NUES w2
R—IL 18:45~20:15 > i y =R
27-) | #R_ |@18:45-20:45 mpyts - e | SOOTIEL | e ey | aschool@
(BE(F ARITIT7 |D4m~6m% 609 £30A i1 000, f5% aaE bambitious.
A QINE1~3E 609 5176 4‘9§H © ip
ARR) QIN\F4~65F 909 B0 AN (858-5180)
@hF1~34 1204 = °
108198 (1). 268 (1)
- 11)%168((%)\25?8&'?%)\ i 10}%1(2?(&)-
[H6EE AN =n 128148 MDst50 NEE e —— 138(B)#SE s N
wmr =2 | ROLERE | Saa1saE) va=7 80A |22 7 o008 @57 BB e
g | 27 (M ~IN4)9:00~| —M 40A ’ MRICT
10:30. ¥ 1 =7 (1h5~p3)- 13:00~14:00)
—f%10:40~12:10
(] L Y
NFRAR=VEr2-FAhHEHAH=E
S FELKEKHBE (EEF24)N) ZFHZE(ES16A) O35~ 4BERENC=RN
BE=038258(8)~298(%) BRE=4H6-13-20-278(%) (BH=EL8E)
@4/318(R)~58(%) 240, 168450 ~176459D  #m=EiR=48268=) £7T
8EF300~9BF457) CNRIAEE)  WH=4m~ BFEM =20 - 2260

/K= 3m+~ (OKEN~70—

IV(B#ELL) QBMEYO—

L~ 47KE)
e =AF14:5,0001

&

SERAE 16,0003 (BFHD) er

(58] 7 0> MREERMESE (KB ICFREN - HERED O A BFHE)

Bl BB LHIAATIRE

£l&=4,500 (A

L

-

FEEA
BA-MEE=NRAR-—VYE
>S9 —(B52-1245 - NBE-F

RNEFISIAER)

BA=BRNFAR—VEI—A
MXEBDT SR (IHBREENH

KRBT LR 2P @

5

=\ CHCNUNRHRBE AR O U <

(—\' )



